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Question Nos. 1 to 100 have four options, out of which only one is
correct. Answer any 50 questions. You have to mark your selected
option on the OMR-Sheet. 50 x 150

1. I aF AT @3t & o 1eqard x 5, 3 dur 20, 10, 6 § @ x &1 A
gl

(A) 10

(B) 5



(C) 3
(D) 40

If the direction ratios of two parallel lines are x, 5, 3 and 20, 10, 6 then
the value of x is.

2. aﬁﬁmmﬁ%%w a4, by, ¢4 dUT a,, by, ng-(_‘ﬂ'a:lzzz
A) b

) b

(
(B
(C) bs
(D) cq
If the direction ratios of two parallel lines are aq, by, ¢4 and ay, by, C

aicz

then =

(A) 20
(B) - 20



(C) 30
(D) - 30

If the direction ratios of two mutually perpendicular lines are 2, 3, 5 and
X, Yy, 4 then 2x + 3y =

5. [2a-7 1 =Ja b-1 = (a, b) =
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10. [6 5] [_11] -
A) [6 -3]

B) [-5 6]

C) [1]

D) [11]

AN AN N S

11. % (ZCOS%) =

(A) —2sin 3

(B) —%sin%x

-3 . 3x
(©) —-sin—
-3 3x

(D) —sin—

d XY —
13. —(11%) =
(A) x11*71
(B) 11*.logx

(C) 11*.log11

(D)

11*
log11




(C) 2sin26
(D) —tan® @

If x =acos?6,y = bsin’0 then the value of Z—z is

(C) 2sin26

(D) _Tb tan? 6

16. 37dhel THIFIOT x2 dx + y?dy = 0 & & &
A) X+ y® =
B) x* + y? =

( k
( k
(C) x* - y?* = k
( k

D) x* - y? =



The solution of the differential equation x* dx + y*dy = 0 is

A) x> +y® =k

(B) x* +y* =k

(C) x* - y* =k

(D) x* - y* = k

17. G-20.(k+31—7) =
(A) O

(B) - 6

(C) -7

(D) 8

18. 3ol THIHIOT e dx + eV dy = 0 FT gl &

(A) 63x+4y =k

(B) e3* +e? =k

(C) ;e +ze =k

(D) e3x + ety _l_e3x+4y =k

The solution of the differential equation €* dx + e¥ dy = 0 is
(A) e3x+4y =k

(B) e3* +e% =k

(C) se¥ +1e¥ =k

(D) e3x + ety _|_63x+4y =k

19. 31T e Z 4+ Y — 0 &7 g

x oy
(A) x =ky



11
(B) ;-{-;:k
C) x+y=k
(D) xy =k

The solution of the differential equation %x+d7y =0is

C) x+y=k
(D) xy =k

20. 31dehel HATRIOT Z—i—ysinxzcotx I HHTheloT I[0Th g
(A) sinx

(B) e~s"

(C) e

(D) e«

The integrating factor of the differential equation %—ysinx = cotx is
A) sinx

(

(B) e~
(C) e~
(

D) eCOSX
21. ] [1 -1] =

(A) [0]
(B) [-1 1]



22. 3 [; ‘02] =
(A) _281 —06_
(8) -274 _02
© [ o
(D) 281 —02

23, W‘c’-ﬂ'x+y<25 3?31?-I?ﬁ?-r2—6x+3y'ch‘r3-T@WFnc‘rr%’
(A) 150
(B) 225
(C) 425
(D) 318 & FIg ALl

The maximum value of Z = 6x + 3y subject to constraints

< 25, >0.
x+y y>0

(A) 150
(B) 225
(C) 425
(D) none of these

24, THAYT x +y <13, x = 0,y > 0 & 3dd Z = x - 3y &I 3
AT &

(A) 39



(B) 26
(C) 13
(D) - 26

The maximum value of Z = x - 3y subject to constraints x + y < 13, x >
0,y=>0is

The minimum value of Z = 7x + 8y subject to constraints 3x + 4y < 24,
x>0,y>0is



26. (21 —=37).(G+k) =
A) 2

B) -1

O
w

(
(
(
(D) 0

27. x| < 1, 2 tan™ x =

(A) tan” 2x

in—1 2%

(B) sin —
1 2

(C) cos 11+7
1 2

(D) tan 11+%

28. x €R,cot lx =
(A) % —sin"lx

(B) % —cos™tx
(0] % —tan lx

(D) % —seclx

29. tan! (%) =
(A) sin"!(x + )
(B) cos™i(x +y)
(C) tan!(x +y)
(

D) tan"lx +tan"ly



30. sin7!

(A
(B
(
(

)
)
C)
)

o1l oxlgl wll:\f wlA

D

(13
31. 1

13
1

(15
®) [’

[26
© [

(13
o) [

25
4
B) 110

(C) 19

© [33

(A) 0
(B) 1
(C) 2
(D) 3

2 3
15 7
[ 4

(. 271')
SIn— ) =
3

145] [(2) (2)] -
145]

o

38o]

d

|15l -
55

45]

/6

33. 'l”r"f

, tan0do =



34. [sin3 6 cosec?8 df =
(A)c+ 0

(B) c+cos 6

(C)c-cos6

(D) c+sin6

35. [(cosB cosec?6 — cosh cot? §) df =
(A) logcosecB + cotf + k
(B) cosec6 cotf + k

(C) k+sin6

(

36. [(4cosx —5sinx)dx =
(A) k+4sinx+ 5cosx
(B) k —4sinx —5cosx
(C) k+4sinx —5cosx
(D) k —4sinx + 5cosx

3 cos x—2sin x
37. chos x+3sin x dx =
(A) 2cosx + 3sinx + k
(B) log|2cosx + 3sinx|+ k
(C) tan~!(3sin g) +k

(D) 2tan> +k

38. f3x+2 dx =

x34+2x



A) sinT1(x3 +3x) + k

(

(B) tan™'(3x% +2) + k
(C) log|3x2+2|+ k
(

D) log| x3 +2x | + k

39. [

x2+5

(A) tan™' = +k

(B) tan™! % + k

— 1X
(C) tan \/§+k

1 X
(D) V5tan =Hk

40. f_ll log (g) dx =

A) 0

) 1

(
(B
(C) 2 log 3
(

D) 3 log 2

41. gfg A 3R B Tada gearv g, P(A) = 0.3 dar P(B)=0.4 & P(AnB) =

A) 0.12

(

(B) 0.21
(C) 0.75

(D) 0.7

If A and B are independent events, P(A) = 0.3 and P(B) = 0.4 then
P(ANB) =

(A) 0.12



(B) 0.21
(C) 0.75
(D) 0.7

42. 3Tegg [é ﬂ &l HgEsSl TG &
™[4 T
® [ 7]

4 3
©) [, 3

4 2
@) |5 ]

The adjoint matrix of matrix [; i

@[5 7

4 -3
® 5 7]
3
1
2
1

w A N A

43. IR UF @ T BeF FoAC F N —,— JAT - & ar x F TF AT &

77 77 V77
(A) 6
(B) 7
(C) 8
(D) 9
If the direction cosines of a line be %% and \/% then a value

(A) 6



45 gfg d@fhar 0, aob=3a+b T aRANIGFT A (203) 0 5 =

If the operation '0' is defined as a o b = 3a + b then (2 03) 05 =



46. Tfe A={1, 2}, B={a,b,c} af A & B #H Welsll T FHel TEAT &
A) 9

) 1
C) 64

) $TH F PIS AET

If A={1, 2}, B={a,b,c} then total number of functions from A to B is
(A) 9
(B) 1
(
(

(
(B
(
(D)

C) 64

D) none of these

47. TE A={a, b}, B={1, 2, 3} Al A & B & Theh Wolell T Hel TEIT §

If A={a, b}, B={1, 2, 3} then total number of one-one functions from A to
B is

(A) 6
(B) 8
(C) 9
(

D) none of these

48. 3qehel THEOT dx + dy = 0 T g &
(A) x = ky



(B) xX* +y* = k
(C) x+y=k
(D) xy =k

The solution of the differential equation dx + dy = 0 is

51. sin (sin_1 %) =



52. sin"lx +sin"ly =

(A) sin_l{xwll —y2 —yv1 — xz}
)

(D) 2

55. |x| = 1,tan E (tan™!x + cot™? x)] =

12
V3

(B) V3
(C) 0
(D) 1

(A)

D



56. %(ex + cos 5x) =

A) e* = cos5x

(

(B) e* + 5sin5x

(C) e* —5sin5x

(D) e* — 5cos5x

o7. % (sin2x +e* —cosx) =
(A) cos2x + e* —sinx
(B) 2cos2x + e* +sinx
(C) 2cos2x + e* — sinx
(

D) —2cos2x + e* + sinx

58. % Gsec 4x) =
(A) sec 4x. tan 4x
(B) sec? 4x
(C) tan? 4x

(D) % sec 4x. tan 4x

59. %(loge 10x) =



60. Tl 3x-4y+6z=11 &1 HA fdeq A gV &

61. fsin%xdx =

(A) k—%cos%x
(B) k+%cos%x
(C) k—gcos%x
(D) k+2cos

3 4

62. fcos%xdx =
(A) k+sin%‘

7 . 7x
(B) 5+sm?+k
(C) 2sinZ + k

77 9

(D) k + cos%x



63. [ sec? 17—xdx =

(A) k +—tan—
17x
(B) k — Ltan
(C) k+=tan—"
17x
(D) k——t ey
64.[ 4*dx =
(A) 4 + k
4x+1
(B) x+1 +k
4x
(C) @4‘]{

4_X
(D) —@+k

65. [x (4x* — 6)dx =
(A) 4x3 —6x + k
(B) = —6x2 + k
(C) x*—3x*+k

x3
(D) %—3x2+k

66. [e*(cosx — sinx)dx =
A

e*sinx+ k

B

(A)
(B) e* cosx + k
(C) —e*sinx+k
(D) k

—e*cosx



67. [e*(x3 + 3x%)dx =
(A) 3x%e* +k
(B) x%e* +k
(C) x3e* + k
(D) 3e*.x3 +k

68. e (- —=)dx=
(A) ;ex+k

(B) —xe* + k

(C) k ——e



71. T x-8y-9z=12 & THIK TH dol & FHET &
(A) x+8y+9z=12

(B) x-8y-9z=2023

(C) 8x-y-9z=12

(D) x-9y-8z=12

Equation of a plane parallel to the plane x-8y-9z=12 is
(A) x+8y+9z=12
(B) x-8y-9z=2023
(C) 8x-y-9z=12
(D) x-9y-8z=12

72. (3t-4k) =

73. AfGer 37— 97 &r farm & sHE AGT §

37-97
(A 35

37-97
(B) 2=

31-9]
€ =
(D) 2=




75. AT 3x + 4y + 5z = 13 IR x-37&T YN Il IAT HA:W@US §

3
13
13

(B) =
()
1

(D) =

(A)

The intercept cut off on x-axis by the plane 3x+4y+5z=13 is

76. A T ax+by+cz+d=0 & FHICR ¥ = =2 =
(A) a+2b+3c=0
(B) -a+2b+3c=0



(C) 3a+b+2c=0
(D) o1 & g gl

If the line _il=

N

% is parallel to the plane ax+by+cz+d=0 then
A) a+2b+3c=0

(

(B) -a+2b+3c=0
(C) 3a+b+2c=0
(

D) none of these

77. AG & dd ax+ by +ciz+d; =0 TUT ayx + by + ¢z +dp, = 0 WER
oFd g or

@ _bh_a
(A) az by ¢

a1, b1 e
(B) a2+b2+cz_0

(C) a1a2 + b1b2 + C1C2 = 0

(D) $1H & HIg el
If two planes a;x + byy +c¢;z+d; =0 and a,x + b,y +c,z+d, =0 are
mutually perpendicular then

a _bh_a
(A) az by

Gy ha
(B) a2+b2+cz_0
(C) a1a2+b1b2+C1C2 :0

(D) none of these

78. (11— 77— k).(87 - — 5k) =
(A) 95
(B) 100



(C) 400
(D) 88

79. P(4) = %,P(B) = %,P(A NB) = 14—1 = P(A/B) =

Ol O

—~
O
~
—

22

80. P(E) =2,P(F) =2,P(EUF) =2=P(ENF) =

Nlw NI~k NN N

81. 31dahol THIRIOT d—y+27y= 5x2 T HThold] IUTh



82. (3k —71) x 2k =

84. T x +2y—3z+15 = 0 & AT & g U
A1, 2,3
B) 1, 2, 3
C) 1, 2, -3
(D) 1, 2, 15
Direction ratios of the normal to the plane x+2y-3z+15=0 are
A1, 2,3
B) 1, 2,3
©) 1, 2, -3
(D) 1, 2, 15




The direction ratios of the straight line x;rl =120

A1, -2, 5
) 3,25
C) 3,3, 6

(
(B
(
(D) 1,3, 5

86. W Y@T == =1 =1 frfafld F ¥ fhw Reg ¥ ToReh §7

102

(A) (101, 102, 103)
(B)
(C)
(D)

100, 99, 98)

(
(98, 99, 100)
(
(99, 100, 101)

Through which of the following points does the straight line it UGS

101
L2 = 2% pass?

102 103

(A) (101, 102, 103)
(B) (98, 99, 100)
(C) (100, 99, 98)
(D) (

D) (99, 100, 101)

87. (107+]+k) x (—47 +7f— 11k) =
(A) -187 + 1067 + 74 k

(B) 187 —106] — 74 k



(C) 187 + 1067+ 74 k

(D) 5i—67—7k

88. =~ (x* +e¥) =
(A) 3x2

(B) 3x2 + 3e*
(C) 3x% +e*
(D) ¥

3x2e

D

89. L (tan x + sin® x) =
dx

(A) secx + 2sinxcosx

(B) sec?x + cos®x

(C) sec? x + 2sinx cosx

(

D) sec? x — 2 sin x cos x

90. L (e5) =



1
92. [ sin' xcos®x dx =

(D)

93. f_l x17 x dx =
A) 0
) 1

(
(B
(C) 3/17
(

D) 14/3

94. 3 [Vxdx =
(A) =x%2 + k
(B) 2x3/? + k
(C) 3x3/% + k

(D) sx¥/2 + k

x+2
95. fx;r_4 dx =
(A) log [x+2| + k
(B) log |x* - 4] + k
(C) log |x - 2| + k

x+2

(D) log | — | + k



3dx _
1—9x2

A) tan"13x + k

96. [

(

(B) sec™!3x +k
(C) sin™'3x + k
(

D) cos™!'3x +k

97. 25 [ sec5xtan5x .dx =
(A) 25sec5x + k
(B) 5sec5x +k
(C) 25tan5x + k
(D) sec5x + k

98. [sec?4x dx =
(A) tan4x + k

(B) %tan 4x + k
(C) 4tan4x + k

(D) 8tan4x + k

99. k.(G+)) =



100. [—&_ =

1436x2
(A) 6tan~16x + k

(B) 3tan"l6x + k
(C) %tan_1 6x + k

(D) tan"t6x + k



